


Sample Items
Science—Grade 4

The graph shows the estimated population of wild hogs in South 
Carolina between 2002 and 2010.

 










       



















Which information is best supported by these data?

A. The wild hog population increased between 2008 and 2009.

B. More wild hogs were in South Carolina in 2010 than in 2002.

C. The wild hog population decreased between 2005 and 2008.

D. More people in South Carolina had wild hogs in 2007 than in 
2008.

Key = B

Science—Grade 6

Which pair of statements best explains an environmental stimulus 
and a bear’s response to survive winter? 

A. Environmental stimulus: The bear senses that food is 
becoming scarce.  
Response: The bear consumes less food, and its heart rate 
increases.

B. Environmental stimulus: The days are becoming shorter.  
Response: The bear consumes more food, and its heart rate 
decreases.

C. Environmental stimulus: The bear is hungry.  
Response: The bear consumes more food, and its heart rate 
increases.

D. Environmental stimulus: The days are becoming longer.  
Response: The bear consumes less food, and its heart rate 
decreases.

Key = B

Sample Questions, Tutorials, and Online Tools Training (OTT)
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